B C He cka3aHO Kakon U3 yrnoB a u
80\ (20+p) kakou . Nycte CAD=a , BAC=8.

=> ABC=180° -(a+f) ( cymma
YITOB, Npunexaumx K

A D 6okoBo# cTopoHe Tpaneumm
=180°)

ACB=CAD= a ( HakpecT nexatiue npu napansiernibHbiX NPAMbIX)
ACB= 180°-CAD-ADC= 180°-a-a-f = 180°-(2a+p)

AABC: No T cunycoB: AC/sin(B)= AB/sin(ACB) =BC/sin(BAC)
=> d/sin(180° -(a+f)) = AB/sin(a) = BC/sin(B)
=> AB=CD= d-sin(a)/sin(a+g) ; BC= d-sin(B)/sin(a+p)

AACD: INo T cunycos: AC/sin(D)= AD/sin(ACD)

=> d/sin(a+B) =ADI/sin (180°-(2a+B))= ADI/sin (20+B)

=> AD=d-sin(2a+g)/sin(a+f)




